Inputed Data Just for the Information

Concrete Grade: Strutural Class: Reinforcement Grade:
Category [
Accidental
Grade = "C35/45"
hI =1 4 1 ([P

Out of the Two Function M.Ed and N.Ed

I am trying to find the Minimum N.Ed (-Ve Value) when the function M.Ed = 0

et~ 0.0028 & o = —-0.000%
Given
_lgcuz £ Eo Mlax * u 0= Zat Ilax © 001 MEd(Est.Max’Sc.MaJJ =0

m= 0.0023 EGI’EEJ: = —0.0009
Given
“lEnn S Sopgax < U &g < 001 NEd(gst.Max’Sc.MaxJ =0

Ma:diniZE(MEd=€st_Max’€c.MﬂJ€:l =

Out of the Two Function M.Ed and N.Ed

I am trying to find the Maximum M.Ed (+Ve Value) when the function N.Ed = 0
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I am trying to find the Minimum N.Ed (-Ve Value) when the function M.Ed = 0
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I am trying to find the Maximum M.Ed (+Ve Value) when the function N.Ed = 0
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